
Fig. 101 Vertical Post Indicator

Data Sheet 1.13
 Issue C

Material Specification
Item Material

Locking Wrench  Cast Iron, A126-B

Operating Nut Bronze B584

O-Ring Buna N

Top Section Cast Iron A126-B

Window Glass Plexiglas

Open Target Cast Aluminium

Shut Target Cast Aluminium

Target Carrier Nut Bronze B584

Target Carrier Plate 1/16” Sheet Metal

Clamp Target Retainer 302 Stainless Steel

Pan Head Zinc Plated Steel

Hex Nut Zinc Plated Steel

1/2” NPT Pipe Plug Malleable Iron

3/8” Eyebolt Forged Steel

Hex Capscrew  Zinc Plated Steel

Stem 1” Sq. AISI 1020

Crane Coupling Cast Iron A126-B

Cotter Pin Brass

3/4” Hex Hd. Screw Zinc Plated Steel

Telescoping Barrel Cast Iron A126-B

Lower Standpipe  4” DI. CI 52ANSI A21.51

3/4” Hex Hd. Screw Zinc Plated Steel

Base Flange Cast Iron  A126-B

5/8” Hex Capscrew  Zinc Plated Steel

5/8” Hex Nut  Zinc Plated Steel

UL Listed / FM Approved

Notes
1. Remove the top section from the top of the Indicator Post assembly.

2. Cut the required length off the bottom of the Standpipe for the

 Ground Line to match up with Standpipe Ground Line mark.

3. Cut the 1” square stem bar to suit valve position.

4. Set the “OPEN” and “SHUT” targets for the appropriate valve size.

5. Re-attach the Top Section to the top of the indicator Post assembly.

Rapidrop Limited
Manasty Road, Peterborough, PE2 6UP, United Kingdom
Tel: +44 (0) 1733 370 444    Fax: +44 (0) 1733 553 958

e-mail: rapidrop@rapidrop.com  web: www.rapidrop.com

US

LISTED

Adjustment Range Dimension A - Min 543mm Max 1403mm

© 2014 Rapidrop
Rapidrop® is a registered trade mark.
Rapidrop Limited
Registered in England No. 4936424 

1
0
0
6

1
2
6
7

2
8
2
.6

Rometec srl - www.rometec.it - Rometec srl - www.rometec.it - Rometec srl - www.rometec.it

Rometec srl - www.rometec.it - Rometec srl - www.rometec.it - Rometec srl - www.rometec.it 


